Quiz I General Chemistry If Lecmre@Spring 13 Dr. Hahn 20pis 2/1F| 9:30/am quiz#

Name K@L\ (print) Name ) (sign)
Please show all wogk for full oredit & to get partial credit. (suggestion: A guess is better than no answer.)

1 From review: (4 pts, 2 pts each) E: _ S"‘ +7 C({)
a. What is the number of valence electrons in the molecule NCl; 2« - 7
b. Which of the following is a correct Lewis Dot structure for the molecule NClI;  Circle the numbe

the correct Lewis Dot structure /-} ! 9 X 7 - Zé —
we ve éy L ) wo - e‘
¢ ClN— (I ¢ Cl—N—1 [}
? “( « e ‘ g
gci' : 513

)

Kﬂ@—/ /GL fz= 23 <
2. Given the following molecule what is the intermolecular force? To answer, complete

( bent mg;i’emiﬁ_) (3 pts each, 12 pis)

5
CH3 — G »
G

a  ‘Draw in the individual bond dipole vectors on the molecule shown. (vectors look like +—»

b. The vector sum of the dipole moment for the molecule is [(zero) or ] (circle one)

c. The molecule as a whole is or (nonpolar)] {circle one)

d. The intermolecular force for the molecule is [ (dispersion forces) or (di
Gicleone) k- oftached Lo 50, M ~(golarit

3. For the following chart for the interconversion of water under Pressure = 1.00 atm;use The followi
Jetters to label the blank on the graph. You may use a letter more than once or you may end up not
using some letters at all. (a} converiing liquid to gas (b) converting solid to liguid (c) heating solid
water  (d) heating gaseous water (¢) heating liquid water (2 pts each, 4 pts)

A ) t Moy

o e

heat added

Extra Credit: (3 pts) Please show work. Whatis the heat needed to warm 4.77 grams ice from -35 Cto0
’C? (g=mCAT, Cie=2.09 J/g°C) (show work on back if you run out of space) '

AT= C@f’g +45°C) M= £0 4
e o 36w
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QuizTl General Chemistry IT Lemu@pﬁng 13 Dr.Hahn 20pts 2/1 quiz #

Name : (print) Name (sign)
Please show all'work f6f full credit & to get partial credit. (suggestion: A guess is better than no answer.)
1 Fromreview: (4pis, 2 pts cach) o< @
rom review: (4 pts, 2 pis eac . . -
a What is the number of valence electrons in the molecule ~ HoCO / '7— =2 (16}{' Ge t (9

b. Which of the following is a correct Lewis Dot structure for the molecule H,CO Circle the number

f th Lewis Do
of the correct t structure é«f CAn On /‘7(1 AQW

8¢

:Q: Qx?ﬁ[ﬁ’e’ 90@, 6)(2: iZe | M*‘ 2_€

2. Given the following molecule what is the intermolecular force? To answer, complete the following.
(3 pts each,-2 pts)

X )
/h electrons left off of F for structural clarity
(te érahadral ot V)

L]

a. Draw in the individual bond dipole. vectors on the molecule shown. (vectors should look like 4 )

b. The vector sum of the dipole moment for the molecule is or {glot zeroj] (circle one)

¢. The molecule as a whole is [(polar) or (circle one)

d. The intermolecular force is [(@m (dipolar) or (hydrogen bonding)] (circle one)

2. For the following chart for the interconversion of water under Pressure = 1.00 atm, use the following
letters to label the blank on the graph. You may use a letter more than once or you may end up not
using some letters at all. (a) converting liquid to gas (b) converting solid to liquid (c) heating solid
water (d) heating gaseous water (¢) heating liquid water (2 pts each, 4 pts)

100°C } ........................... _____/\< C{ )
temperature ;[/

Bxtra Credit: (3 pts) Please show work. What is the heat needed to melt 7.87 moles ice?
(q =1 A Hiusion, AHfusion = 6.02 kJ/mol) (show work on back if you run out of s

g= Q¥ mvles ico)(C.02 DS il )= 4. %43

heat added



Quiz 11 Generalléhemistryll LecturSpring 13 Dr.Hahn 20pts 2/1F {11:30 am) quiz#

Name by (print) Name (sign)
Please show all work fo full credit & to get partial credit. (suggestion: A guess is better than no answer.)

N, (+ c,lnargﬂ
1 Fromreview: (4 pts, 2 pts each) — 4 ( /%
. What is the number of valence electrons in the molecule NH, E e = “'7’9 + '

a
b. Which of the following is a correct Lewis Dot structure for the molecule NH;" Circle the number of
the correct Lewis Dot structure

f g (et o
@ o as\\l . > d e 2.1 AMcannet
H——N—~H [ H-— H“‘“:Iff mgvl'fe more zéhan F&- ind

F{?_ﬂ(}c{j

&/ eim

e Hg
(@7 F 4¥1=Y¥e

2. Given the following molecule what is the intermolecular force? To answer, complete the following.

ge . (12 pts, 3 pts each)
F: : TH electrons left off F for structural clarity
. (ff’agc%sa( ‘G”gtmmrdﬂczf] M}u’)

a. Draw in the individual bond dipole vectors on the molecule shown. (vectors look like +— )

b. The vector sum of the dipole moment for the molecule is [(zero) or (circle one)

d. The intermolecular force for the molecule is {(dlSpersmn forccs) or (dipolar) ot.(hydrogen bonding}]

(mrcleone)@hd!kg Ak, CRAs g effecf

3. For the following chart for the interconversion of water under Pressure = 1. 00 atm, the following
fetters to label the blank on the graph. You may use a letter more than once or you may end up not using
some letters at afl. (a) converting liquid to gas (b) converting solid to liquid (c) heaing solid water
(d) heating gaseous water (¢) heating liquid water (4 pts, 2 pts each)

¢. The molecule as a whole is@ or (nonpolar)] (circle one)

(7{”/8(/‘((

100°C| .............................. / @Meg{
_______ m ‘o 5,00

{

heat added

Exira Credit: (3 pts) Please show work. What is the heat needed to warm 32.54 grams of liquid water from ¥
45.1 °C to 100.0 °C ? (q =m C AT, Cyuter = 4.184 J/ g °C) (show work on back if you run out of space)

[00,0°C— 45.]% = 549°C

6" @L'D@Q 4154 T(Sm%) - 7’7276;:?



Quiz Il General Chemistry I Lecpring i3 Dr.Hahn 20pts 2/1F quiz #

Name ) (print) Name (sign)
Please show all workfor full credit & to get partial credit. (suggestion: A guess is betier than no answet.)

< & i
1 From review:- (4 pts, 2 pts each) : - _ N =
a. What is the number of valence electrons in the molecule C;BrHa Z % - Z(@q) 1’2(7@) t Z'Qe)
b. Which of the following is a correct Lewis Dot structure for the molecule_C,Br;H;  Circle the number
of the correct Lewis Dot structure ]

] Ge ¢ o o
B B

CNecl Cw _E”/EI:
o? r/ : \H x /C

B JBiad ¢

¢3! : o gt ¢
@ s

2. Given the following molecule what is the intermolecular force? To answer, complete the following.
(12 pts, 3 pts each)

."ﬁ%l . (éy%gnﬁj f/ﬂhﬁ’“ a-C)

,/)g;\

a. Draw in the individual bond dipole vectors on the moleculé shown. (vectors look like %

b. The vector sum of the dipole moment for the molecule is [(zero) o (circle one)

c. The molecule as a whole is@ or (nonpolar)] (circle one)
d. The intermolecular force for the molecule is [(dispersion forces) or@or (hydrogen bonding})]
K not Cfn/eoﬂfy lo & 0,1

3. For the following chart for the interconversion of water under Pressure = 1.00 atm, use the following
letters to label the blank on the graph. You may use a letter more than once or you may end up not using
some letters at all. (a) converting liquid to gas (b) converting solid to liquid (c) heating selid water
(d) heating gaseous water (e) heating liquid water (4 pts, 2 pts each)

i
100°C | oonemeieeceeeaecaaennn: /

|
0°C | eeeernnne _ﬂ;)
temperature E % ()

heat added

H CH;

Extra Credit: (3 pts) Please show work. What is the heat needed to convert 2.65 moles of liquid water to
gaseous water? (q= 1 AHvaporizations AH vaporization = 40.7 kJ/mol) (show work on back if you run out of space)

Cég—; @,Q,jmgﬁdﬁ/\/%ﬁ’? %—j;) = /08 43
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QuizIl General Chemistry I Lecture A Spring 13 Dr. Hahn 20pts 2/1F 9:30 am  quiz #

Name _ (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)

1 From review: (4 pts, 2 pts each)
4. What is the number of valence electrons in the molecule NCl3
b. Which of the following is a correct Lewis Dot structure for the molecule NCl; ~ Circle the nurber of

the correct Lewis Dot structure

we ¥ 4y ' P so
¢ Cl>mN——C ¢ Cl—N—Cl;
S I
Cl e Cls
e, o el
(1) (2)

2. Given the following molecule what is the intermolecular force? To answer, complete the following.
C bent qulamlq) (3 pts each, 12 pts)

ﬁlﬁ
CH3—.0}
H

a  Draw in the individual bond dipole vectors on the molecule shown. (vectors look like +—»)
b. The vector sum of the dipole moment for the molecule is [(zero) or (pot zero)] (circle one)

c. The molecule as a whole is [ (polar) or (nonpolar)] (circle one)

d. The intermolecular force for the molecule is [ (dispersion forces) or (dipotar) or (hydrogen bonding)]
(circle one) '

3. For the following chart for the interconversion of water under Pressure = 1.00 atm, use the following
letters to label the blank on the graph. You may use a letter more than once or you may end up not
using some letters at all. (a) converting liquid to gas (b) converting solid to liquid (¢) heating solid
water (d) heating gaseous water (¢) heating liquid water (2 pts each, 4 pts) :

)

temperature |

heat added

Extra Credit: (3 pts) Please show work. What is the heat needed to warm 4.77 grams ice from -35 Cto0
°C? (q=mCAT, Ci,e=2.09/ 2°C) (show work on back if you run out of space)

T



Quiz [l General Chemistry IT Lecture B Spring 13 Dr. Hahn 20 pts 2/1F 9:30 am quiz# i”%

Name (print} Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)

1 Fromreview: (4 pts,2 pts each)
a. What is the number of valence electrons in the molecule H.CO
b. Which of the following is a correct Lewis Dot structure for the molecule H,CO Circle the number

of the correct Lewis Dot structure

'] e .
e (e 0%
¥ |¢ \é

H L::::Hf H—..C—H
() 2)

2 Given the following molecule what is the intermolecular force? To answer, complete the following.
(3 pts each, 12 pts)
F

F./N%TF‘HF

4 Draw in the individual bond dipole vectors on the molecule shown. (vectors should look like +—» )

electrons left off of I for structural clarity

(Ze &rahedeal af W)

b. The vector sum of the dipole moment for the molecule is [(zero) or (not zero)] (circle one)
c. The molecule as a whole is [(polar) or (nonpolar)] (circle one)
d The intermolecular force is [{dispersion forces) or {dipolar) or (hydrogen bonding)] (circle one)
2. For the following chart for the interconversion of water under Pressure = 1 .00 atm, use the following
letters to label the blank on the graph. You may use a letter more than once or you may end up not

using some letters at all. (a) converting liquid to gas (b) converting solid to liquid (¢) heating solid
water (d) heating gaseous water (e) heating [iquid water (2 pts each, 4 pts)

0°C .o

vd
temperature

Extra Credit: (3 pts) Please show work.  What is the heat needed to melt 7.87 moles ice?
(q = n A Husion, AHpusion = 6.02 kJ/mol) (show work on back if you run out of space)

heat added



Quiz Il General Chemistry II Lecture A Spring 13 Dr. Habn 20pts 2/1F 11:30 am quiz # "7\"%

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer. )

1 Fromreview: (4 pts, 2 pts each)

a. What is the number of valence electrons in the molecule NH;" _

b. Which of the following is a correct Lewis Dot structure for the molecule NH; Circle the number of
the correct Lewis Dot structure

'Y
H « H
) & ¢
U S | N
| I S
H s He
(1) (2)

2. Given the following molecule what is the intermolecular force? To answer, complete the following.
0 (12 pts, 3 pts each)

it ‘
F"/N\:’ ‘H _electrons left off F for structural clarity
- (Ergoral pyramdal ar+)

a. Draw in the individual bond dipole vectors on the molecule shown. (vectors look like 4—» )
b. The vector sum of the dipole moment for the molecule is. [(zero) or (not zero)] (circle one)

¢. The molecule as a whole is [(polar) or (nonpolar)] (circle one)

d. The intermolecular force for the molecule is [(dispersion forces) or (dipolar) or (hydrogen bonding)]
(circle one)

3. For the following chart for the interconversion of water under Pressure = 1.00 atm, use the following
letters to label the blank on the graph. You may use a letter more than once or you may end up not using
some letters at all. (a) converting liquid to gas (b) converting solid to liquid (c) heating solid water
(d) heating gaseous water (¢) heating liquid water (4 pts, 2 pts each)

| _
temperature | ( )
heat added

Extra Credit: (3 pts) Please show work. What is the heat needed to warm 32.54 grams of liquid water from
45.1°C10100.0°C? (q=m CAT, Cyuer =4.184J/ g °C) (show work on back if you run out of space)



Quiz Il General Chemistry Il Lecture B Spring 13 Dr.Hahn 20pts 2/1F 11:30 am quiz# éﬁ - “

Name (print) Name (sign)
Please show all work for full credit & to get partial credit. (suggestion: A guess is better than no answer.)

i From review: (4 pts, 2 pts each)
a. What is the number of valence electrons in the molecule C;Br:H>
b. Which of the following is a correct Lewis Dot structure for the molecule C;BrpH,  Circle the number
of the correct Lewis Dot structure
-4

. Cu ¢ ¢ -X4
e B A & BL‘\ so AL
, o C=C\ oL
"B’ N L T
[ L ﬁ'.,* g¢ ¢
(1 @
2. Given the following molecule what is the intermolecular force? To answer, complete the following.
(12 pts, 3 pts each)
( crigonal {}f/a-n ar G#+C)

3 %
coﬁ

g e
2. Draw in the individual bond dipole vectors on the molecule shown. (vectors look like +9
b. The vector sum of the dipole moment for the molecule is [(zero) or (not zero)] (circle one)

c. The molecule as a whole is f(polar) or (nonpolar)] (circle one)

d. The intermolecular force for the molecule is [(dispersion forces) or (dipolar) or (hydrogen bonding)]
(circle one)

3. For the following chart for the interconversion of water under Pressure = 1.00 atm, use the following
leiters to label the blank on the graph. You may use a letter more than once or you may end up not using
some letters at all. (a) converting liquid to gas (b) converting solid to liquid (c) heating solid water
(d) heating gaseous water (e) heating liquid water (4 pts, 2 pts each)

l .
temperature | %Q"( )

heat added

Extra Credit: (3 pts) Please show work. What is the heat needed to convert 2.65 moles of liquid water {0
gaseous water? (g =1 AHvaporizations AH vyaporization = 40.7 kJ fmol) (show work on back if you run out of space)



